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- stocks’ firm-specific risk.

We use hundreds of stocks to establish a portfolio. Which of the following has the highest
impact on the portfolio variance ? (A) Individual stocks’ variance (B) Covariance among
stocks (C) Individual stocks’ beta (D) Ind1v1dua1 stocks’ expected returns (E) Individual
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The above cash flows start at T =0 and generate $100 every year Dlscount rate = 5% a year. PV of
these cash flows = (A) Lower than 2000. (B) Equal to 2000. (C) 2001~ 2100 (D) 2101~2200 (E)
Higher than 2200. : ,
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When we analyze risk and return characteristics of buying a put option, a similar investment position |
[as a comparison] should be : (A) Buying call option (B) Selling call option (C) Buying underlying
asset (D) Selling underlying asset (E) Buying futures. ~

When an option has intrinsic value, it is said to be: (A) In the money. (B) Out-of-the money. (C) At-
the-money. (D) Time dependent. (E) Risk neutral.

Empirically, stock return R = a + B1xRm + B2xSize + B3xBM ratio, where Rm is market portfolio
return. B2: (A) > 0. (B) <0. (C) = 0. (D) Lager than 1. (E) Larger than B3.




Qe vl 2 | .= | ——

RLFUWAZ 14 RS EFELBE T Erig s 2 na

PHEAMW  MHEE (¥ 2mts]) A+ 443002
KA BRMERZE T RT3 #$4RH2R

9. ItisJan. 1 now. You have 1,000 shares of stock ABC. Stock price= $50 per share. Put option prices
(P) on ABC are as follows: K (exercise price) T (maturity)=Jan. 31 T=March 31 T= June 30

$ 30 $7. $5:(C) $6:
35 $6:(A) $5: (D) $7:
40 $5: (B) $5: (E) $8:

You want to do a 30-day protective put strategy. Which option should you buy ? Select one of
(A),(B),(C),(D), and (E).

10. Which of the following is/are correct ? I. It’s possible for a project to have 2 or more Modified IRRs.
IL. A project may have 2 or more IRRs. III. MIRR method cannot differentiate lending from
borrowing. IV. When IRR rule contradicts NPV rule, we select the recommendation provided by
NPV rule. (A)IV (B)II (C)III (D)ILIII (E) None of the above.
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Current Ratio 1.96 1.52
Return on Assets B 3.46% 2.5%
Inventory Turnover 5.03 3.21
Receivables Turnover 7.99 4,25
PEratio 14.2 20
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